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TrigonometryExercise Answers for ID 9012

[TI]=0, [T2]=m  [T3]=0, [T4]=n,  [T5] :g
R R T 27 S5n
[T6]==7  [17]="  [T§)=7. (1= [TI0] ="
i) == r12) =22 r13) =1~ T4 =2 T15) =2
[ ] - 3 > [ ] - 3 > [ ] - 4 > [ ] - 4 > [ ] - 4
Ti6] =— T17] == T18) == T19] = LT 20 =&
[ ] - 4 s [ ] - 6 H [ ] - 6 s [ ] - 6 H [ ] - 6
[T21] =0,  [T22] =-1,  [T23] =0,  [T24] =-1,  [T25] =-1, @
[T26] =0,  [T27] = "undefined",  [T28] =0,  [T29] = % [T30] = @ : @
[T31] =2,  [T32] = @ [T33] = —@, [T34] = - 72 [T35] = /2, : @
[T36] =42, [T37] = ?1 [T38] = @ [T39] = ﬁ [T40] =43, , @
[T41] =-4,  [T42] =24,  [T43] =20,  [T44] =-12
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TrigonometryExercise Answers for ID 9016

[TI] =m, [T2] =0, [T3] =0, [T4] =, [T5] :37“
T6, —3—7[ 17, = T8 = 79 —2—n T10 —S—Tc
[]_23 []_23 []_23 []_3’ [ ]_3
T11 _= T2 74_7: T13 Iz T14 ek TI15 *3—n
[ ]_ 3> [ ]_ 3 s [ ]_ 4 s [ ]_ 4 s [ ]_ 4
Ti6, = Ti7, —ﬂ Ti8 —7—TC T19] = Hr 720 =
[T16] =7 [T7] === T8 ==~ [TI9] ==~ [120] ="
[T21] =-1, [T22] =0, [T23] =0, [T24] = "undefined", [T25] =0, ,@
[T26] =-1,  [T27] =0,  [T28] ="undefined",  [T29] = % [T30] = @ , @
[T31] = ﬁ , [T32] =2, [T33] = —@, [T34] =— ﬁ [T35] =1, , @
[T36] =1, [T37]:%, [T38]:—§, [T39] %, [T40] £, ,@
[T41] =-7,  [T42] =53,  [T43] =42,
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[T44] =19
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TrigonometryExercise Answers for ID 9018
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[T1]=0,  [T2]=0, [T3]=m,  [T4=x,  [T5]= 37“
6] =— 7] == 18] =L 9] =— r10] =2
[.]_27 [.]_27 [.]_25 []_35 [ ]_3
i1 =22 12 =% T13) =% T4 =1 TI5] =~
[ ]_ 3 > [ ] - 3 > [ ] - 4 > [ ] - 4 > [ ] - 4
T16] =2~ T17] == 718] = r19) =% 20 ==
[ ]_ 4 > [ ] - 6’ [ ] - 6 H [ ] - 6 ] [ ] - 6
[T21] =-1,  [T22] =0,  [T23] ="undefined",  [T24] =-1,  [T25] =0, @
3 1 Ji
[T26]=-1,  [T27]=0,  [128] =1,  [T29]="=  [T30] =, S
[T31] =43, [T32] =2, [T33]=—@, [T34]:@, [T35] =42, @
[T36] =1, [T37]:£, [T38]:%, [T39] = -2, [T40]:#, £
[T41] =2,  [T42] =14,  [T43] =25,

/
[T44] =16

TrigonometryExercise Answers for ID 9036
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[TI]=0, [T2]=n,  [T3]=0, [T4]=n,  [T5]= 32—n
76, e T7 —3—n T8 = 79 _2_7: T10 =
[]_23 []_27 []_27 []_3’ [ ]_3
T11 *4—n Ti2 ek Ti3 - T14 ek TI15 ==
[ ]_ 3 > [ ]_ 3 > [ ]_ 47 [ ]_ 4 s [ ]_ 4
T16, —ﬁ Ti7 = Ti18] = Hr T19 —7—n 720 —S—R
[T16] == [TI7]=".  [TI§]=——  [T19]="—  [120]="_
[T21] =1,  [T22] =0,  [T23]=1,  [T24] ="undefined",  /T25] =1, , @
[T26] =0,  [T27]=0,  [T28] =1,  [T29] = % [T30] = @ , @
[T31]:£, [T32]:¥, [T33]=@, [T34]:—@, [T35]=—1/E, ,@
[T36] =2, [T37]:%, [T38]=@, [T39] = -2,
[T41] = 126,
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g3 AL
[T42] =-12,

3 /
[T43] =25,  [T44] =2
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TrigonometryExercise Answers for ID 9037

[T1] =0, [T2] =m, [T3] =0, [T4] =m, [T5]:§

z 3n 3n x an
[T6] ==, [T7] == [T8] == [19] =3, [TI0] ==
2n arn EL I r
[T11] = T [T12] = T [T13] = M [T14] = M [T15] = 2
Sn 1= 5w Tn b
[TI6] == [T17] = . [T18]:?, [T19]:T, [TZO]:E

[T21] =0,  [T22]=1,  [T23]=-1,  [T24] =0,  [T25] =0,

e

5

[T26] =1,  [T27] ="undefined",  [T28] =-1, [T29]:%, [T30]—@, @
[T31]:¥, [T32]:@, [T33]:—@, [T34]:£, [T35] =42, @

H

[T36] =42, [T37] = ?1 [T38] = Bl [T39] =4[3,  [T40] = @

>

i)
/

[T41] =17, [T42]=-32,  [T43]=9,  [T44]=-10
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TrigonometryExercise Answers for ID 9138

[Tl]=n,  [T2]=0, [T3]=0, [T4]=n, [T5]=3TTE

T T 37 b 41
[T6]:;, [T7]:;, [T8]:T, [T9]:;, [TIO]:T
T11 *S—E TI2 72_75 TI3 73_75 T4 =z TiS5 *S—E
[ ]'_ 3 H [ ]'_ 3 H [ ]'_ 4 H [ 4]_ 47 [ ]'_ 4
TI16 —ﬁ T17 —S—R T18 I TI19 —7—n T20] = ln
[]—4, []—6, []—6, []—6, [T20] =
[T21] =0, [T22] =-1, [T23] =0, [/T24] = "undefined", [T25] =-1, ,@
/3 1 ol
[T26] =0, [T27] = "undefined", [T28] =0, [T29] = —T, [T30] :E’ ,7
[T31]:¥, [T32]:«/;, [T33]:@, [T34]:—£, [T35]:~«/;, @
[T36] =1, [T37]:§, [T38]:§, [T39] =2, [T40]:%, @

[T41] =-1,  [T42] =42,  [T43] =147,  [T44] =-23
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TrigonometryExercise Answers for ID 9602

[TI]=0, [T2]=0, [T3]=n  [T4]=n,  [T5] :g
T6] = 7] == 78] =L 9] =— r10] =2~
[]_27 []_27 []_23 []_33 [ ]_3
i =22 12 =% T13] =~ T4 =2 Ti5] =
[ ] - 3 B [ ] - 3 B [ ] - 49 [ ] - 4 > [ ] - 4
T16] =2~ r17) ==~ T18] =— 7107 =1 20 =2
[ ]_ 4 > [ ] - 6 > [ ] - 6’ [ ] - 6 s [ ] - 6
[T21] =0,  [T22] =-1,  [T23] ="undefined",  [T24] =-1,  [T25] =-1, @
[T26] =0,  [T27] = "undefined",  [T28] = "undefined",  /T29] :%, [T30] _@, @
[T31]=2,  [T32] =3,  [T33] :@, [T34] :@, [T35] =1, @
[T36] =—[2,  [T37] :—@, [T38] :%, [T39] =A[3,  [T40] = -2, @
[T41] =33,  [T42] =14,  [T43] =5,  [T44]=-4
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TrigonometryExercise Answers for ID 9616

37
[TI] =m, [T2] =0, [T3] =0, [T4] =, [T5]:T
[T6] u [T7] u [T8] in [T9] n [T10] z
T’ T’ T2 37 "3
Tl an Ti2 2n Ti3 In Ti4 n Ti5 x
[]—3, []—3, []—4, []—4, []—4
3n 5n Tn 1= T
[TI16] =—,  [T17]="—,  [TI8] =——,  [T19]=—  [T20] =—
4 6 6 6
|
[T21] =-1,  [T22] =0,  [T23] ="undefined",  [T24] =1,  [T25] =1, , #
1 I3 "0
[T26] =0, [T27] = "undefined", [T28] =1, [T29] =5, [T30] :T’ ,7
3 2 2 |
[T31] = g [T32] =2,  [T33]=— g [T34] =~ g [T35] =42, 4
3 -1 3 |
[T36] =1,  [T37] =—£, (138 =, [T39] SN T =§, o
[T41] =17,  [T42] =-12,  [T43] =26,  [T44] =-142
[RE IV ID'0/6'0:0°0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.00.00.00.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0
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TrigonometryExercise Answers for ID 10152

[T]] ==, [T2] =0, [T3] =0, [T4] ==, [ﬂﬂzzéiz

T RE s T 27 4
[T6)=7.  [17]="  [T8]=0. (19 =" [T10]=—
57 T 3n E
[T ==~ [T12]=%.  [TI3]="  [TH4]= [T15] ==
b1 Tr 5 1= T
[T =7, [T17]="  [TI§] == [TI9] = [120] =
[T21] =0,  [T22] =-1,  [T23] ="undefined",  [T24] = "undefined",  [T25] =0, : @
1 I3 \
[T26] =1, [T27]=0,  [128] ="undefined”,  [T29] =7,  [T30] ="~ S
[T31] :ﬁ, [T32] :ﬁ, [T33] = —ﬁ, [T34] :ﬁ, [T35] =1, £
3 3 2 2 /
3 -1 1
[T36] =+2,  [T37] =— s =5. (139 - J3,  ra0p=-2, S

[T41] =20,  [T42] =30,  [T43] =46,  [T44] =-1
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TrigonometryExercise Answers for ID 11738

[T]] =m, [T2] =0, [T3] =m, [T4] =0, [T5]:§

T6, & 17, EL T8 z T9 —ﬂ T10 _Z
[rej=—=  [17]=—7  [18/ =" [T =7 [TI0] =73
T11 _in Ti2 2 Ti3 i T4 ek Ti5 -
[ ]_ 3 > [ ]_ 3 > [ ]_ 4 > [ ]_ 4 H [ ]_ 4
Ti6 —ﬁ T17 —ﬁ T18 _Z T19 —S—TC T20] = Hr
[rej ==, [T7]==~  [TI§] =" [T19] ==~ [T20] ==/
[T21] =1, [T22] =0, [T23] ="undefined", [T24] =0, [T25] =-1 ,@
/3 ]
[T26] =0, [T27] =0, [T26] ="undefined",  [T29] ===, [T30] =7, S
[T31]=-2,  [T32] = @ [T33] =— @ [T34] = — @ [T35] =1, , @
[T36] =+[2,  [T37] = ;1 [T38] =— @ [T39] = - [T40] = # , @

[T41] =24, [T42] =21, [T43] =44, [T44] =5
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TrigonometryExercise Answers for ID 11754

[T]] ==, [T2] =m, [T3] =0, [T4] =0, []“5]:377.E

76, - 17 —3—n 18 - 79 _5_1: T10, -
[.]_27 [.]_25 []_25 []_33 [ ]_3
T11 _2r T12 _ir TI3 - T14 1z T15 EL
[ ]_ 3 > [ ] - 3 > [ ] - 49 [ ] - 4 > [ ] - 4
Ti6, ek T17, - T18 ek T19] = Hr 720, 1T
[ ]_ 4 4 [ ]_ 6’ [ ]_ 6 H [ ]_ 6 H [ ] - 6
[T21] =0, [T22] =1, [T23] =0, [T24] ="undefined", [T25] =0, ,@
3 ]
[T26] =1, [T27] ="undefined",  [T28] =1,  [T29]====,  [T30] =7, S
[T31] = # [T32] =3, [T33] =- @ [T34] = — @ [T35] =1, , @
[T36] =2, [T37] :%, [T38] :—ﬁ, [T39] =#, [T40] =2, @

[T41] =21,  [T42] =14,  [T43]=-39,  [T44] =0
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TrigonometryExercise Answers for ID 11841

[T]] =m, [T2] =m, [T3] =0, [T4] =0, [T5]:§

(9%}

T6, —3—TC 17, _== T8 - T9 _4_7: T10, _5_7:
[]_23 []_27 []_27 []_3’ [ ]_3
T11 _2n Ti2 - T13 ek T14 1z Ti5 -
[ ]_ 3 > [ ]_ 37 [ ]_ 4 > [ ]_ 4 > [ ]_ 4
Ti6 —ﬁ T17 —ﬁ T18 —H—TC T19 _Z 720 —S—R
rej === [T7]==~  [TI§] ==~ [TI9] =" [T20] ==
[T21] =0,  [T22] =1,  [T23] ="undefined",  [T24] =1,  [T25] =0, , ﬂ
[T26] =-1,  [T27] ="undefined",  [T28] =1,  [T29] = % [T30] =— @ , @
[T3]]:¥, [T32]:@, [T33]=—£, [T34]:—@, [T35]=«/5, ,@
[T36] =2, [T37]=%, [T38]:—73, [T39]=@, [T40] =43, ﬂ

/
[T41] =-2,  [T42] =-19,  [T43] =18,  [T44] =123
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TrigonometryExercise Answers for ID 11842

[Tl] =n,  [T2] =0,

[T3] =0, [T4] ==,  [T5] :%
6] = — 7] =L 78] =L ro7 =2 T10] =—
[ ] - 29 [ .] - 2 > [ ] - 2 s [ ] - 3 > [ ] - 3
i =22 12 = 2% T13) =1~ T14) =L TI5] =~
[ ] - 3 B [ ] - 3 B [ ] - 4 B [ ] - 4 > [ ] - 4
T16] =2~ r17) =% T18) =~ 7197 =12 T20] ==
[ ]_ 4 > [ ] - 6 > [ ] - 6 > [ ] - 6 > [ ] - 6
[T21] =1,  [T22] =0,  [T23]=-1,  [T24] =0,  [T25] =-1, @
[T26] =0,  [T27] =0,  [T28] = "undefined",  [T29] = 31 [T30] _@, @
[T31] =43, [T32) :#, [T33] :@, [T34] :72, [T35] =1, @
[T36] =A[2,  [T37)] :—@, [T38] =%, [T39] :#, [T40] =43, @
[T41] =96,  [T42] =17,  [T43] =27,  [T44] =4
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TrigonometryExercise Answers for ID 11901

[Tl]=n,  [T2] =0,

[T3] =n,  [T4] =0,  [T5] :g
T6, —3—7[ 17, —3—n T8 i~ 79 —ﬂ T10 _Z
[ ]_ 2 > [ ] - 2 H [ ] - 2’ [ ] - 3 > [ ]_ 3
T11 72_717 Ti2 74_75 Ti3 - T14 *3—n TI15 ek
[ ]_ 3 > [ ] - 3 > [ ] - 47 [ ] - 4 s [ ] - 4
T16, —ﬁ Ti7 = Ti8 —S—R T19] = Hr 720 —7—n
[T16] === [T17] ="¢ [TI8] ==~ [TI9] === [120] ==,
[T21] =0,  [T22] =-1,  [T23]=0,  [T24]=1,  [T25]=]1, @
[T26] =0,  [T27] ="undefined",  /T28] = "undefined",  [T29] = ;1 [T30] = @ , @
[T31] =43, [T32]=-2,  [T33]=- @ [T34] = @ [1T35] =+[2, , @
[T36] =1, [T37]:£, [T38]=§, [T39]=—%, [T40] =43, @
[T41] =0,  [T42] =-30,
X [Page = 0007]

[T43] =26,  [T44] =-43
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TrigonometryExercise Answers for ID 11947
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[Tl]=n,  [T2]=0, [T3]=0, [T4] ==,  [T5] :g
76, —3—ﬂ 17 - T8 —3—n 79 _5_1: T10, _4_1:
[]_27 [.]_27 [.]_25 []_33 [ ]_3
T11 —2—n TI2 - T13 —S—T[ T14 —7—n TI5 i
[ ]_ 3 > [ ] - 39 [ ] - 4 > [ ] - 4 > [ ] - 4
3n Tn I1n b 5n
[TI6] == [TI7]==  [TI§ ===, [TI9) =",  [T20] ="~
[T21] =0,  [T22] =-1,  [T23] ="undefined",  [T24] =-1,  [T25] =1, @
[T26] =0,  [T27] =0,  [T28] ="undefined",  /[T29] _—@, [T30]:%, @
[T31]:«/g, [T32]:@, [T33]:—£, [T34]:@, [T35] =1, ,@
[T36] =1,  [T37] =—@, [T38] =%, [T39] =2, [T40]:@, @
[T41] =-104,  [T42] =-60,  [T43] =2,  [T44] =-8

TrigonometryExercise Answers for ID 11989
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[Tl]=m,  [T2]=0, [T3]=m  [T4]=0, [T5] :g
T6, —S—TC 77 T T8 —3—n T9 —S—R T10 _2_7:
[]_23 []_23 []_27 []_3’ [ ]_3
T11 = T2 *4—n T3 *S—E T4 = T15 *3—n
[ ]_ 37 [ ]_ 3 > [ ]_ 4 ’ [ ]_ 47 [ ]_ 4
Ti6 —ﬁ T17 —S—TC TI8, X T19] = Hn 720 _7_7:
[TI6] == [TI7]="~  [TI8] =, [T19] ==~ [T20] =~
[T21] =0,  [T22]=-1,  [T23]=1,  [T24] =0,  [T25] =0, @
[T26] =-1,  [T27] =0,  [T28] ="undefined",  [T29] = % [T30] =— @ , @
[T31] =A[3,  [T32]=-2,  [T33] = @ [T34] = — @ [T35] =1, il
[T36] =2, [T37]=%, [T38]:£
X [Page = 0008]

/
LR

o (1397 = . [TH0] =" .

[T41] =9,  [T42] =16,  [T43] =0,  [T44] =-24
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TrigonometryExercise Answers for ID 11996

[TI] =0, [T2] =m, [T3] =m, [T4] =0, []“5]:377.E
T6] =~ 7] == 18 =2 197 = 2% r10) =22
[rej==.  [17]=7. [T§] ===  [T9 =", [TI0]=—7
Ti1] == T12] =~ 7137 = % T14] < ]
[Ti] ==, [TI2]==r7  [TI3] =7, [TH]="7  [TI5]=—,
B VT B B S P . S YR L.
[riej ===, [Tr7] =", [TI§] ==~ [TI9] ==~ [T20]=—
[T21] =1, [T22] =0, [T23] = "undefined", [T24] =0, [T25] =1, @
[726]210, []27]::0, []28]:: L []ng :g? [730]__3%53 ’jél
[T31]=@, [T32] =2, [T33]:—@, [T34]:—@, [T35] =1, @
[T36] =42, [T37]=%, [T38]=—@, [T39] =2, [T40] =43, @
[T41] = -2, [T42] =-31, [T43] =34, [T44] = -218
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TrigonometryExercise Answers for ID 12889

[T]] =m, [T2] ==, [T3] =0, [T4] =0, [T5]:§
T6, —S—TC T7 —3—n T8 = 79 —4—n T10 —ﬁ
[ ]'_ 2 > [ ]'_ 2 > [ 4]_ 2’ [ ]'_ 3 H [ ]‘_ 3
T11 _= T2 72_7( T13 Iz T14 *3—n TI15 ek
[ 4]_ 3> [ ]'_ 3 s [ ]'_ 4 s [ ]'_ 4 s [ ]'_ 4
Ti6, = Ti7] = Hr Ti8 = T19 —S—TE 720 —7—n
[T16] =7 [TI7] == [T18] =2 [TI9] === [120] ==,
[T21] =-1,  [T22] =0,  [T23] =0,  [T24] ="undefined",  [T25] =-1, , @
/3 1 il
[T26] =0, [T27]=-1,  [T26] ="undefined",  [T29]=———  [T30] =", S
[T31] =43, [T32]:—#, [T33]:—@, [T34]=—@, [T35] =+[2, @
[T36] =42, [T37]=%, [Tssjz—g, [T39] = -2, [T40]=£, ﬂ
[T41] =39,
X [Page = 0009]

3 i
[T42] =-23,  [T43] =16,  [T44] =10
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TrigonometryExercise Answers for ID 12890

[Tl]=n,  [T2]=0, [T3]=m,  [T4] =0,  [T5]= 37“
6] =— 7] == 18] =L 9] =— r10] =2
[.]_27 [.]_27 [.]_25 []_35 [ ]_3
iy =2 12 = 2% T13] =~ T4 == T15) =2
[ ] - 3 > [ ] - 3 > [ ] - 49 [ ] - 4 > [ ] - 4
S5m Sm Tn b 1=
[TI6] == [T17]=="  [TI§== [T =, [T20] ==
[T21] =0,  [T22] =-1,  [T23] ="undefined",  [T24] = "undefined",  [T25] =1, @
[T26] =0,  [T27] = "undefined",  [T28] =0,  [T29] = ;1 [T30] = @ @
[T31] = f [T32] =43, [T33] = @ [T34] = - 72 [T35] =1, @
3 -1 1
[T36] =2, [T37] = M8 =T. [139]=2  [T40] = ER L

~

[T41] =-15,  [T42] =-4,  [T43] =-86,  [T44] =-69

X Math@MUT XXXXXXXXXXXXXXKXXKXXXXKXXKXKXXXKXXKXXKXXKXKKXXKX KKK KX XKX XXX KL KKK XXX KXKKXKXXKXMS /1-6300101-00020XX
TrigonometryExercise Answers for ID 12891

[Tl]=n,  [T2]=n,  [T3]=0, [T4] =0,  [T5] :37“
o~ 7] = 78] == 197 =% T107 = 2=
(16 =5 (1)<, [T =5. (1= ([T10] =
=25 iy =t iyt IOk AP §
[TH]=—  ([Ti2)=",  [T13=7. [TH4]="r.  [TI5] ="
[TI6] == [T17]="  [TI§]="  [T19] ==~  [T20] ="
[T21]=0,  [T22]=-1,  [T23]=1,  [T24] ="undefined",  [T25] =0, ﬂ
[T26] =1, [/T27] = "undefined", /T28] = "undefined", [T29] = f, [T30] :%, , @
[131]=-2, [T32J=¥, [T33]=—@, [T34]=@, [135] =2, @
[T36] =1,  [T37] :%, [T38] =~ @ [T39] =-2,  [T40] LS “3/; @
[T41] =22,  [T42] =3,  [T43]=-2,  [T44]=-2
X [Page = 0010]
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TrigonometryExercise Answers for ID 12917

[Tl]=n,  [T2]=0, [T3]=m,  [T4]=0,  [T5] :g
T R R 5w T
[T§]=>.  [T7]=" (18] = (1= [TI0]=—-
T 2n T 3n T
[Tl =%, [T12]=" [T3]=7. [T =" [TI5] ==
S5m b1 Tr 117 5w
[TI6] == [T17] =g, [TI§] =" [TI9] ==~ [T20]=""

[T21] =-1,  [T22] =0,  [T23] ="undefined",  [T24] = "undefined",  [T25] =1, : @
[T26] =0,  [T27] = "undefined",  [T28] =-1,  [T29] =— £ /T30 =2, , 7\
[T31] = @ [T32] =[3,  [T33] =- @ [T34] = @ [T35] =2, , /\

[T36] =1,  [T37] = ;1 [T38] = — @ [T39] =2, [T40] =43, ol

[T41] =14,  [T42] =62,  [T43] =14,  [T44]=-15
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TrigonometryExercise Answers for ID 13099

[Tl]=n,  [T2]=n,  [T3]=0, [T4] =0,  [T5] :37“
RE s T T P 51
[16]="7.  [17]=7. [T8]=T. [19]=T.  [TI0] ="
11y =22 r12) = 2% T13] =2 Ti4] =— T15) =22
[ ]_ 3 ’ [ ]_ 3 ? [ ]_ 4 ’ [ ]_4’ [ ]— 4
(roj ==y A=rgs Y=g =T R0=
[T21] =1,  [T22] =0,  [T23]=1,  [T24] ="undefined",  [T25] =1, @
[T26] =0,  [T27] =-1,  [T28] = "undefined", [T29]:%, [T30]:@, @
[T31] = 2*3/;, [T32] :«/;, [T33] :@) [T34]:£, [T35] =—«/E, @
[T36] =1, [T37]=—@, [T38]:%, [T39] =2, [T40]:%7 @

[T41] =-12,  [T42] =23,  [T43] =-30,  [T44] =-13
X [Page = 0011]

):0.0:0:0:0.0.0.0:9:9.0.0.0:0:9:9,0.0.0:0:9.0.0.0:0:9.0,0.0.0:0.0.0.0.0:0.:9:9,0.0.0:0.0.0.0.0:0.9,0.0.0.0:9:9.0.0.0:0.9.0.0.0.0:9.9.0.0.0:0.:9.0,0.0.0:0.0.0.0.0:0.:9.0,0.0.0.0.0.0.¢




X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXXXXXXXXXKXXXXXXKXXXX XX KX XXX XXXXXXXXXM5/1-6300101-00023XX
TrigonometryExercise Answers for ID 13100

[Tl]=n, [T2]=n, [T3]=0, [T4]=0,  [T5] :g
76, = 17 _3_75 T8 —3—n 79 —E T10 ==
[]_29 [.]_27 []_23 []_39 [ ]_3
T11 _2r T12 _ir TI3 EL T4 - T15 1z
[ ]_ 3 > [ ] - 3 > [ ] - 4 > [ ] - 49 [ ] - 4
Ti6, ek T17] = Hr T18 1 T19 _2r 720 -
[ ]_ 4 4 [ ]_ 6 > [ ] - 6 H [ ]_ 6 H [ ]_ 6
[T21] =1,  [T22] =0,  [T23]=0,  [T24] ="undefined",  [T25] =0, @
[T26] =-1,  [T27] =1,  [T28] ="undefined",  [T29] _—@, [T30] :%, @
[T31] =43, [T32] =2, [T33]:@, [T34]:—@, [T35] =1, @
[T36] =1, [737]::—245; [738]::%%, []39]::3é£; [T40] =-2, ,Qéi
[T41] =38,  [T42] =-12,  [T43] =-14,  [T44] =-19
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TrigonometryExercise Answers for ID 13139

X

[T43] =21,

[Tl]=n,  [T2]=0, [T3]=n,  [T4]=0,  [T5] :37“
76 = 17] =" sy =25 o =2 g = 2E
[ ] B 2, [ ] - 2’ [ ] - 2 2 [ ] - 3 s [ ] = 3
ry ==L iy =t iyt IOk AP §
== =t my =t mag=Tr s =
T16) =~ T17] ==~ T18) =~ T19) =T 20 =22
[TI6] == [T17]=¢.  [TI§) === [TI9)=——  [120] =~
[T21] =0, [T22] =1, [T23] = "undefined", [T24] = -1, [T25] =1, @
3 1 I
[T26] =0, [T27]=0.  [T26] ="undefined",  [T29] ===~ [T30] =, A
[T31] =-2, [T32]=ﬁ, [T33]:@, [T34]:_@, [T35] =1, @
[T36] =2, [T37]=§, [T38]=%, [T39] =2, [T40]:%, @
[T41] =2, [T42] =22,
[Page = 0012]

[T44] =76
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TrigonometryExercise Answers for ID 13411

[TI] =0, [T2] =m, [T3] =m, [T4] =0, []“5]:377.E

76, - 17 —3—n 18 - 79 _5_1: T10, -
[.]_27 [.]_25 []_25 []_33 [ ]_3
T11 _ir T12 _2m TI3 _1r T4 _2r TI15 =
[ ]_ 3 > [ ] - 3 > [ ] - 4 > [ ] - 4 H [ ] - 4
Ti16, _3r T17, ek T18 _= T19] = Hr 720, 1T
[ ]_4’ [ ]_6’ [ ]_6’ [ ]_6’ [ ]_6
[T21] =0,  [T22] =-1,  [T23] ="undefined",  [T24] =-1,  [T25] =-1, , @
3 ]
[T26]=0,  [T27]=1,  [T28]="undefined",  [T29] ===, [T30] =7, S
[T31] = f [T32] =2, [T33]:@, [T34] =@, [T35] = /2, il

[T36] =1, [T37]:%, [T38]:@, [T39]:—%, [T40] =43,

NN

[T41] =-48,  [T42] =10,  [T43] =-6,  [T44] =2
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